

	<h1 style="margin: 0;">LES OPÉRATIONS</h1> <p style="margin: 0;">(09)</p>
---	---

• Calcule :

$10 - 1 = \dots$	$10 - 6 = \dots$	$10 - 4 = \dots$	$10 - 9 = \dots$
$10 + 1 = \dots$	$10 + 6 = \dots$	$10 + 4 = \dots$	$10 + 9 = \dots$
$10 - 5 = \dots$	$10 - 2 = \dots$	$10 - 10 = \dots$	$10 - 8 = \dots$
$10 + 5 = \dots$	$10 + 2 = \dots$	$10 + 8 = \dots$	$10 + 3 = \dots$
$10 - 7 = \dots$	$10 - 5 = \dots$	$10 - 0 = \dots$	$10 - 3 = \dots$
$10 + 7 = \dots$	$10 + 5 = \dots$	$10 + 0 = \dots$	$10 + 10 = \dots$

• Observe l'exemple et calcule :

$$\begin{array}{c} 5 \\ \text{---} \\ 2 + 3 + 4 = 9 \end{array}$$

$$\begin{array}{c} 6 \\ \text{---} \\ 4 + 2 + 1 = \dots \end{array}$$

$$\begin{array}{c} 5 \\ \text{---} \\ 1 + 4 + 3 = \dots \end{array}$$

$$\begin{array}{c} \dots \\ \text{---} \\ 4 + 4 + 2 = \dots \end{array}$$

$$\begin{array}{c} \dots \\ \text{---} \\ 5 + 1 + 3 = \dots \end{array}$$

$$\begin{array}{c} \dots \\ \text{---} \\ 6 + 0 + 4 = \dots \end{array}$$

$$\begin{array}{c} \dots \\ \text{---} \\ 3 + 6 + 1 = \dots \end{array}$$

$$\begin{array}{c} \dots \\ \text{---} \\ 2 + 4 + 3 = \dots \end{array}$$

$$\begin{array}{c} \dots \\ \text{---} \\ 3 + 3 + 3 = \dots \end{array}$$

$$\begin{array}{c} 5 \\ \text{---} \\ 4 + \dots + 5 = \dots \end{array}$$

$$\begin{array}{c} 8 \\ \text{---} \\ \dots + 2 + 1 = \dots \end{array}$$

$$\begin{array}{c} \dots \\ \text{---} \\ 3 + 2 + \dots = 10 \end{array}$$

• Observe l'exemple et calcule :

$$\begin{array}{c} 10 \\ \text{---} \\ 2 + 8 + 4 = 14 \end{array}$$

$$\begin{array}{c} 10 \\ \text{---} \\ 4 + 9 + 1 = \dots \end{array}$$

$$\begin{array}{c} 10 \\ \text{---} \\ 6 + 4 + 3 = \dots \end{array}$$

$$\begin{array}{c} 10 \\ \text{---} \\ 6 + 4 + 2 = \dots \end{array}$$

$$\begin{array}{c} 10 \\ \text{---} \\ 5 + 5 + 5 = \dots \end{array}$$

$$\begin{array}{c} 10 \\ \text{---} \\ 6 + \dots + 7 = \dots \end{array}$$

$$\begin{array}{c} 10 \\ \text{---} \\ 3 + \dots + 1 = \dots \end{array}$$

$$\begin{array}{c} \dots \\ \text{---} \\ \dots + 5 + 5 = 18 \end{array}$$

$$\begin{array}{c} \dots \\ \text{---} \\ 8 + 2 + \dots = 13 \end{array}$$

$$\begin{array}{c} 10 \\ \text{---} \\ 1 + \dots + 9 = \dots \end{array}$$

$$\begin{array}{c} 10 \\ \text{---} \\ 6 + \dots + 7 = \dots \end{array}$$

$$\begin{array}{c} \dots \\ \text{---} \\ 3 + 7 + \dots = 18 \end{array}$$